
■ わり算をしましょう。

■ わり算をして、あまりも答えましょう。

■ わり算の筆算をしましょう。

① 160 ÷ 40 ＝

② 490 ÷ 70 ＝

③ 270 ÷ 30 ＝

④ 450 ÷ 50 ＝

⑤ 180 ÷ 30 ＝

⑥ 350 ÷ 50 ＝

⑦ 120 ÷ 30 ＝

⑧ 420 ÷ 60 ＝

⑨ 140 ÷ 70 ＝

⑩ 160 ÷ 60 あまり＝

⑪ 480 ÷ 50 あまり＝

⑫ 870 ÷ 90 あまり＝

⑬ 680 ÷ 80 あまり＝

⑭ 160 ÷ 30 あまり＝

⑮ 590 ÷ 60 あまり＝
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■ わり算をしましょう。

■ わり算をして、あまりも答えましょう。

■ わり算の筆算をしましょう。

① 160 ÷ 40 ＝ 4

② 490 ÷ 70 ＝ 7

③ 270 ÷ 30 ＝ 9

④ 450 ÷ 50 ＝ 9

⑤ 180 ÷ 30 ＝ 6

⑥ 350 ÷ 50 ＝ 7

⑦ 120 ÷ 30 ＝ 4

⑧ 420 ÷ 60 ＝ 7

⑨ 140 ÷ 70 ＝ 2

⑩ 160 ÷ 60 あまり＝ 2 40

⑪ 480 ÷ 50 あまり＝ 9 30

⑫ 870 ÷ 90 あまり＝ 9 60

⑬ 680 ÷ 80 あまり＝ 8 40

⑭ 160 ÷ 30 あまり＝ 5 10

⑮ 590 ÷ 60 あまり＝ 9 50
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